20235 Y124 (my9° 37a0°) Wkhy hU—257
JL—A 20235118148 ~ 20234118168
AR S TINRUT X—X2?TAHw b

LEBREHD B4 36 Z 36

BB - DO-HDCP  @A9vin 99 BLA—JI OUT D2® 00
N O @B GO
[ E % OUT| IN GROSS | HDCP | NET | JEfs: KE % 0uT| IN GROSS | HDCP | NET | NEf E % QUT| IN GROSS | HDCP | NET
1|#E B 36 |38 74 4.8 | 69.2 51 RE & 42 | 44 86 | 10.8 | 75.2( 101 |[E IEH 45 |49 94 | 14.4| T79.6
2 |FE|® L= 37 |38 : 75 4.8 | 70.2 52 \{E#E EFTT 47 | 57 104 | 28.8 | 75.2 102 |R1R Z=E 46 | 48 94 | 14.4 | 79.6
3 |#BEEZEHR 37 |37 74 3.6 | 704 53 |[E@ A 45 | 46 91 | 15.6 | 75.4 | 103 |&@ BE 54 |45 99| 19.2| 79.8
4 |1ET BEZ 44 | 41 85 | 14.4 | 70.6 54 |MA £ 39 |39 78 2.4 | 75.6 | 104 @i EBsh 48 | 49 97 | 16.8 | 80.2
5 |/l EBE 35 | 36 71 0.0 71.0 55 |/hER O B%EL 41 | 43 84 8.4 | 756 | 105 |RE LB 48 | 55 103 | 22.8| 802
6 |l B 44 | 44 88 | 16.8 | 71.2 56 | R 44 | 43 87 | 10.8 | 76.2 | 106 |BL =543 54 |54 108 | 27.6 | 80.4
LI1=E %= 40 |41 81 9.6 | 71.4 57 |#fE ot 47 | 46 93| 16.8 | 76.2 | 107 |lLE ik 41 |48 89 8.4 | 80.6
§ |EE RE 39 | 42 81 9.6 | 71.4 58 |4b#t A 46 | 52 98 | 21.6 | 76.4| 108 |[{&@®E = 53 | 54 107 | 26.4 | 80.6
9 |BE BE 33 34 67 | -4.8| 71.8 59 |FEkG IFH 55 | 55 110 | 33.6 | 76.4 | 109 |Zs&Eth/Hn 45 | 42 87 6.0 81.0
10 | G&E (53 42 |37 79 121 7.8 60 BB =17 42 |43 85 8.4 | 76.6 ] 110 [BKR LEF 59 |58 117 | 36.0] 81.0
11 |BX 7R 39 39 78 6.0 72.0 61 |LLUAR &£t 40 | 45 85 8.4 76.6| 111 |B2iEZ =K 50 |48 98 | 16.8 | 81.2
12 |78 &% 37 | 41 78 6.0 72.0 62 |NAfR = 48 |43 91 | 14.4 | 76.6 | 112 | K& &% 56 | 48 104 | 22.8| 81.2
13 |4e4F  Bss% 39 |39 78 6.0 | 72.0 63 |ERt BEX 43 | 48 91 | 14.4 | T76.6 | 113 |&=E & |49 |54 103 | 21.6 | 81.4
14 |58 & 40 |38 78 6.0 | 72.0 64 |#FH BF 51 | 46 97 | 20.4 | 76.6 | 114 | KM =A 55 | 48 103 | 21.6| 81.4
S 15 A et fA0 (44 || 84| 120 720 65 |Sith —if 56 | 53 109 | 3241 76.6| 115 |[MApEHE 48 | 48 9 | 14.4| 81.6
16 (A f@RA 39 |45 84 | 120 | 7207 66 (BB 42 . |45.045°| .| | 90| 13.2| 768 116 |mE =H 49 | 56 105 | 22.8| 82.2
17 |&A & 44 (46 | | | 90| 180 | 720 67 [BN. 7T |49 |47 961 19.2..76.8|| 117 |t k.. ... 57|54 111 ] 28.8 | 82.2
18 | #A. . - 38 |38 TE-p~-%F | (2% 68 B HF 44 |39 83 6.0 | 77.0| 118 |[/NJIl &0 54 | 44 98 | 15.6 | 82.4
19 | #EA 40 |36 76 3.6 | 72.4 69 |H#E [EA 38 |45 83 6.0 77.0| 119 |K&& = 59 |56 115 | 32.4| 82.6
20 B = 39 |49 88 | 156 | 72.4 70 [FI4T  eg 46 |43 89 | 12.0 | 77.0 4 120 |[SF@ FE 53 |49 102 | 19.2 | 82.8
21 [T 3 35 |39 74 1.2 72.8 7 |BEH 43 | 45 88 | 10.8 | 7.2 121 |[AH m=Es 60 |48 108 | 25.2] 82.8
22 |AJIl Eal 40 | 40 80 7.2 | 72.8 72 |WWFE =R 50 |44 94 | 16.8 | 77.2 | 122 |minERHTF 61 |50 11| 27.6 | 83.4
23 |= BT b7 -MEB| 36 |43 79 6.0 730 73|k 5= 44 |50 94 | 16.8 | 77.2| 123 |=F IEE 52 | 54 106 | 21.6 | 84.4
24 R BT 42 |43 85| 1220 | 73.0 T4 | B 50 |50 100 | 22.8 | 77.2| 124 |K&t #HiL 64 |57 121 36.0 | 850
25 |Nlg 8= 38 | 40 78 48| 73.2 h (R &E 48 |44 92 | 14.4| 77.6| 125 [tkEE &2 54 |48 102 | 16.8 | 85.2
26 |71 £ Mk 44 |40 84 | 10.8| 73.2 76 (FE #5h 50 | 48 98 | 20.4 | 7T.6| 126 |ZxEE— 67 |56 123 | 34.8| 882
27 |#m w— 40 |50 90 | 16.8 | 73.2 77 |&f 47 | 50 97 | 19.2 | 77.8 | 127 |k R 67 |55 122 | 33.6 | 88.4
28 |RE g% 46 | 44 90 | 16.8| 73.2 78 |BIE EE 47 | 56 103 | 25.2 | 77.8 | 128 [luO =4 59 | 66 125 | 34.8 | 90.2
29 |ZE BEK 43 | 47 90 | 16.8 | 73.2 79 (@) 52 |44 96 | 18.0 | 78.0 | 129 |#=E & 62 |65 127 ] 36.0| 91.0
30 (AR TEA 49 |47 96 | 22.8 | 73.2 80 B+ JE= 49 |53 102 | 240 78.0
31 (A B3 53 | 43 96 | 22.8 | 73.2 81 [lLA &= 52 | 50 102 240 780
32 (A BT 39 |38 77 3.6 | 73.4 82 |EH#f =+ 49 | 52 101 22.8| 78.2
33 [#HF mBx 40 |42 82 8.4 | 73.6 83 | —i@ 48 |53 101 | 22.8| 782
M |TH =% 43 |51 94 | 20.4| 73.6 84 |&F B 38 | 43 81 2.4 | 78.6
35 =% BEX 39 |42 81 7.2 | 788 85 |ZE = 40 | 47 87 8.4 | 78.6
36 (lLE #B+x 42 |44 86 | 12.0 | 74.0 86 B+ fEE 51 | 42 93 | 14.4| 786
37 |#AAE—ER 36 | 50 86 | 12.0| 74.0 87 |8 B 48 | 45 93 | 14.4| 786
38 |BRER A 34 39 73 1.2 742 88 |HM (LU 48 |51 99 | 20.4| 786
39 R BEX 36 | 43 79 4.8 | 74.2 89 |FHME 8% 48 |50 98 | 19.2 | 788
40 (BB HA 47 |50 97 | 22.8 | 74.2 90 |BEH FA 44 | 41 85 6.0 79.0
41 |BEER ZE v |41 |37 78 36| 74.4 91 |BEE FIT 49 |48 97 | 18.0 | 79.0
42 R BA 44 |40 84 9.6 | 74.4 92 |EME BE= 47 | 43 90 | 10.8 | 79.2
43 [EER 7 39 |45 84 9.6 | 74.4 93 |[RE $HX 43 |47 90 | 10.8 | 79.2
44 BB EE 53 |48 01| 26.4| 74.6 94 =0 & 47 |49 96 | 16.8 | 79.2
45 |ZE@ #%F 45 (43 | 88 | 13.2| 748 95 (kg EA 48 |48 96 | 16.8 | 79.2
46 | tFE B 43 |51 94 | 19.2 | 74.8 9% |BmE Bz 48 | 48 96 | 16.8 | 79.2
47 |5E EBi¢ AT |46 93| 180 | 750 97 |HME =B 52 | 50 102 | 22.8| 79.2
48 (B R 47 |46 93| 18.0| 75.0 98 B EB= 50 | 52 102 | 22.8| 79.2
49 |H\@E f2— 54 |51 105 | 30.0| 75.0 9 |BEERE BRE 57 | 57 114 | 34.8| 79.2
50 |#AAH—BR 45 |41 86 | 10.8 | 75.2 | 100 EFE A 47 | 47 94 | 14.4 | 79.6
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